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ZdIo 0Ol=0E &Ea 2SR 210,898 0 210,898
J| 140,599
< 70,299
308 XXM SO0 A 210,898 0 210,898
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307 glz2tol & 115,800 0 115,800
02 PIZHEHAHEE 115,800 0 115,800
OFEMYE Xt SSHSHS MY 115,800
HexGII2 XA 20,000 0 20,000
307 eIzl & 20,000 0 20,000
03 BIAHMNHE2IHIEE 20,000 0 20,000
OWgHUXZIZ 2F N 20,000
A2NEsH 31,972,270 25,127,829 6,844,441
= 11,149,393
s 2,000,000
J| 13,384,401
< 5,438,476
AZNE UGEeIENE SEdH 29 1,976,858 932,360 1,044,498
J| 1,520,660
< 456,198
308 XXIEHHSOIA 1,976,858 932,360 1,044,498
J| 1,520,660
< 456,198
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J| 1,520,660
< 456,198
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J| 217,100
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J| 9,364,321
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01 IXNHHBANEES 14,055 10,554 3,501
OtR2IE SXAE 4R & 14,055
| 9,370
< 4,685

SSMHEIIZFE (YY) =AHAXSH 48,200 42,200 6,000
J| 48,200

308 XX EHH SOl A 48,200 42,200 6,000
J| 48,200

01 AXSGHBLELS 48,200 42,200 6,000
OSSMEINZESH(HYLU) =FHAA 48,200
| 48,200

SHE2ItE X2 253,044 301,208 A48, 164

308 XXM SO0 A 253,044 301,208 A48, 164

01 AXSGHBLEES 253,044 301,208 A48, 164
OSR2ItE Hedl X 240,096
OetR2IIE Dsstd Tt4 12,948

otolE=s X& 11,110,487 ,038,209 1,072,278
= 9,824,267
< 1,286,220

307 2Iztol ™ 110,000 110,000 0
= 77,000
< 33,000

1 AMISIAIEE X 110,000 110,000 0
OO00ISsSAY Z2A90FI |2 29 110,000
= 77,000
< 33,000

308 XXM S0 A 11,000,487 ,928,209 1,072,278
= 9,747,267
< 1,258,220

01 IXNHHBNEES 11,000,487 ,928,209 1,072,278
OO0toISsS X &AL 11,000,487
= 9,747,267
< 1,253,220

OISSXNALE SALA HRIMA 12,120 11,760 360

308 XXIEHSOIA 12,120 11,760 360




= 2M -3 -HA(EAH) - MRAY - BES Off &t 24

=

M
2
==
£l
Ol
0y

SRS 12,120 11,760 360
& ,120

O
j=]
o
i
Og o¥
0
[Z
m
O
=
>
Pl
0
=
x
o

tsdE2dst NF ALY 225,750 218,235 7,515
,500
75,250

T
g

308 AHXIEHHM SO0l ™ 225,750 218,235 7,515

,500
75,250

T
z

01 HXHHBAEES 225,750 218,235 7,515
OF e - A= X& 225,750

160,500

75,250

o

HAESERD X2 (0ts2=H|) 167,621 161,954 15,667
148,997
18,624

S

H

308 XXM S0l ™ 167,621 161,954 15,667
Jl 148,997
18,624

H

01 AXHHBEES 167,621 151,954 15,667
ENE=PAR- 167,621

148,997
18,624

X

HAE 0IE2RN HEIIS 29 38,382 37,852 530
Il 25,588
12,794

H

308 MHXIHMSOIH 38,382 37,852 530
25,588
12,794

mn <

01 AXHHBAEES 38,382 37,852 530

OASE DIEZREN HEIIZ 29 38,382
Jl 25,588
12,794

t

C2EXNJHH 2 295,035 575,250 N 280,215
J| 226,950
= 68,085

308 MtXIEHHMSOIH 295,035 575,250 N 280,215
Jl 226,950
68,085

H

01 HXHBAEES 295,035 575,250 A 280,215
OUZaIIEXNJHE 2 295,035

226,950
68,085

mn <

Ct2sttEXE HEMEH 23 37,300 37,300 0
Jl 18,650
18,650

t




AT EEENY SN HENERB
Za: B0 Us 04, =S T S
Sl AANISH (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
308 X EHSOIA 37,300 37,300 0
J| 18,650
< 18,650
01 HIXNHHBHNEELES 37,300 37,300 0
OU=2aINFXNE HNEHEH 23 37,300
J| 18,650
< 18,650
Ct23tE E43AMY 2,163,111 2,027,707 135,404
J| 1,663,922
< 499,189
308 XXM SO A 2,163,111 2,027,707 135,404
J| 1,663,922
< 499,189
01 AXHHBILEES 2,163,111 2,027,707 135,404
OU=2sItE S4dsAY 2,163,111
J| 1,663,922
< 499,189
A201E ¥ URSEE SAX HSMAXS 39,960 37,800 2,160
308 MtXIEHMSOIH 39,960 37,800 2,160
01 HXNHHNBHELS 39,960 37,800 2,160
O22IE & US2NEXNJALUEH SAXT AR
N 39,960
=22 SIS M A 120,000 120,000 0
308 XXIEHH SOl A 120,000 120,000 0
01 XML EES 120,000 120,000 0
O=2Z2ZIIEEs AR &3I4 E ML 120,000
Ct2sits SHAXI S (XA 135,300 133,800 1,500
308 MtXIEHMSOIH 135,300 133,800 1,500
01 HXNHHBHELS 135,300 133,800 1,500
OUIsi=E SHAXA 133,800
OSHIAXIAAN Ex0= 1,500
Ct2shts X& 27,000 27,000 0
201 Let24E| 17,000 16,600 400
01 At 22l 17,000 16,600 400
OUZ2stItE AAX &2t 17,000
308 AHAIEHHSOIA 10,000 10,000 0
01 HXNHHBHELS 10,000 10,000 0
OU=aIIE - dLIEXNE 2HI 2 g5+ 10,000
Ct23t0t=E &tots =M K& 15,000 15,000 0
308 XXM SO A 15,000 15,000 0
01 HIXNHHBNEES 15,000 15,000 0




- _ — d =
224 B BN NRAY - BES 0] &k o4 e HlDE2

Ot=3ot= &ite =M X 15,000

CIEtH =5 M (&EXRdl) 975,546 416,000 559,546
= 795,546
< 180,000

403 MtXISHHE X201 E 975,546 416,000 559,546
2 795,546
< 180,000

01 AXISHH A2 E= 975,546 416,000 559,546
OUEN =AY 975,546
=2 795,546
< 180,000

CHEEH == A (l4dl) 496,692 258,597 238,095
= 354,780
< 141,912

308 MtXIEHSOIH 496,692 258,597 238,095
= 354,780
< 141,912

01 HXNHHBHELS 496,692 258,597 238,095
OUEN =SS A 496,692
= 354,780
=) 141,912

CIEtHH =5 M (29dl) 34,020 0 34,020
= 24,300
= 9,720

308 XX EHHSOIA 34,020 0 34,020
= 24,300
= 9,720

01 HIXNHHBNEES 34,020 0 34,020
OCUEN SS MY 34,020
= 24,300
< 9,720

SHRER2IIE EXAIE Ol0ISsSAHEIA XI& 122,177 99,184 22,993
J| 108,258
< 13,919

308 XX EHHSOIA 122,177 99, 184 22,993
J| 108,258
< 13,919

01 AXHHBILEES 122,177 99,184 22,993
OstE2IIE =XAE Ol0lSsAHE A & 122,177
J| 108,258
< 13,919

JpEHEH HE 2,800,000 0 2,800,000
s 2,000,000
< 800,000

403 RXISHH S X0l & 2,800,000 0 2,800,000




M ox
40 5 4

= - — SHE]|
MR 2N FB-BA(E) - MRAY - BAS 0l &k 24 e bl D=2t
e 2,000,000
< 800,000
01 HIXSHMA2E X 2,800,000 0 2,800,000
OJNSHH HE 2,800,000
s 2,000,000
< 800,000
CHEM SS A SAML MM 2,760 0 2,760
308 XtXIEHHSOIA 2,760 0 2,760
01 IXNHHNEBAMNEES 2,760 0 2,760
OUEHNSSAY SALX HRIH&H 2,760
SIRRINEETNAIE AMI=REREF o1 HH| 14,445 0 14,445
J| 14,445
308 MXISHHM SO0 & 14,445 0 14,445
2l 14,445
01 HIXNHHBHELS 14,445 0 14,445
OREZIEFANANE M= 2153 HH| 14,445
J| 14,445
ROt 2E0IFHA C0Is MY 23,316 0 23,316
J| 17,940
< 5,376
308 XXM SO0l A 23,316 0 23,316
J| 17,940
= 5,376
01 IXNHHBNEES 23,316 0 23,316
OO0t Z2E0I=0E U0IS ALY 23,316
J| 17,940
< 5,376
OlHH L Setk =29 278,138 277,715 423
ez HAEE =4 278,138 277,715 423
101 14l 16,177 15,769 408
M4 D12t ZE2XREES 16,177 15,769 408
O&E A 22l 15,119
O8HERE=S 1,058
201 L2l 177,061 166, 666 10,395
01 At 22l 14,080 9,080 5,000
Ogetd & =gl 5,000
Oztet JM= 5,000
o=l 720
O&=J| Xyl 3,360
02 =224l 162,981 157,586 5,395
O3 & HA 71,542
—oHY S4& Y OXNEYS 2= 3,600




M ox
40 5 4

D oEIEE M SA LIS E
S &0 U= oY, @=ss F= JIF

D OlHEEcHA 2

AR 2N EH O () - MBEAY - BAS 0l &t il HZS2

= = 8,190
-&8Jlz0lee) 12,996
-&I2(AMEE) 38,016
—usSRYRE3 1,500
- &Il dHl &Il & A 1,000
—LPG JtAANIEZ 4,800
-FUHAY SASAYIl MHelbl 1,440
(@)sE=3s] 12,258
-8B es 9,180
-23NERE 3,078
OAl& & Hl = XYl 79,181
- M3 AME2 M F A 8,000
- WEHH RAE> 4,000
- EHA RAE=> 16,281
-d3x RANES 2,700
—&I. A SHAE R 4,000
—HIOIHdHRANE> 2,000
-S2Y933 A 2,000
-&5&J | &2 6,360
- 20IAH 29 4,320
-2 A& 2l 7,920
— &I otA &2 6,240
- ABAIE otA 2tel 4,560
-g94= 4,800
- xg a2 6,000

401 Al HI L 2 THHI 38,000 60,000 ~22,000

01 A& HI 38,000 60,000 A 22,000
Ol0lHAEcHR &HME ML 38,000
—CCTV &X ¥ Ze2J WX 3At 18,000
-HEY SFHA IHES=SA 20,000

405 XtabF SHI 46,900 35,280 11,620

01 AL 2B F SHI 46,900 35,280 11,620
OIIAR2E D 2,000
OJA X 33 1,500
OogZz AME 35,000
ONMBII 8,400

o223t 13,639,984 10,919,425 2,720,559
= 767,038
| 4,970,280
& 7,902,666

HAEANERY 7,079,503 4,775,590 2,303,913
= 753,038




=Rk S IENCEEBIE

el

- _ — d =
22N B SA(HN) - NRAY - BYS Ol &t o e
Jl 230,720
< 6,095,745
FAEIMuR 36,000 36,000
307 gl2tol & 36,000 36,000
11T M SRAISE EX 36,000 36,000
O&FAY F MR 36,000
ANEEALAEHEWAARASE 29 10,000 10,000
J| 5,000
< 5,000
307 glz2+0ol & 10,000 10,000
J| 5,000
< 5,000
11T MISRASER 10,000 10,000
ONEZA2EHEAHRAREE 29 10,000
J| 5,000
< 5,000
ANEELAHEHRARSE 29 11,200 5,600
J| 11,200
308 MXIEHMSOIH 11,200 5,600
J| 11,200
01 HXNHHBHEELS 11,200 5,600
OXNGFLEFHFAHRARE 29 11,200
J| 11,200
HFad oA 12,000 12,000
307 gl2tol & 12,000 12,000
11T M SXASE EX 12,000 12,000
O&FEAaY H=H 12,000
SHMOFEHa HAaYd &It 15,000 15,000
307 glz2+ol & 15,000 15,000
11T MIEXASEX 15,000 15,000
O=HordtHa Fa4d It 15,000
FAUHN sHEgs T2y 24 36,000 36,000
307 21201 A 36,000 36,000
11T MISAASEEX 36,000 36,000
OFAUHN &8s T2 294 36,000
Y MAZ= WsEZ2 0 K& 40,000 40,000
= 20,000
< 20,000
307 21201 A 40,000 40,000
= 20,000
< 20,000




NS L S IENCEEBIES EE
M MAEA2AG
ool HAUAFSY CER-ED
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
11T A EXAIEEX 40,000 40,000 0
OfLYHMAEZ=x T2 )H XA 40,000
= 20,000
o= 20,000
HAEUSSNERA 25 S 646,460 658,667 N 12,207
= 193,938
& 452 522
307 QI2t0| ™ 646,460 633,667 12,793
= 193,938
& 452 522
10 A SXNANEEHESIHEX 491,310 475,250 16,060
OFAE SSREHEH 29 491,310
= 147,393
& 343,917
11T A EXAIEEX 155,150 158,417 N3,267
OFAHE ESXNELMEH ESXIAE 155,150
= 46,545
=} 108,605
SHECHAESEHAIER JsEL 23,598 14,500 9,098
402 IV X201 & 23,598 14,500 9,098
01 BIZtXIEAYE X (KM ) 23,598 14,500 9,098
OFAESEI=EA ARII €& ATEYNH P
o 17,798
OFAGEAMEENHEH JsEZ 5,800
HAUE H=2EHOIY 22X 124,845 124,845 0
= 86,100
o= 38,745
308 AMXISHMSOIA 124,845 124,845 0
= 86,100
= 38,745
01 XHAHINMNEEXTZ 124,845 124,845 0
OFA4E oY 29X 124,845
= 86,100
& 38,745
HAa4E soiel g¢sXE 55,100 55,100 0
= 38,000
& 17,100
308 XHXIEHSOIA 55,100 55,100 0
= 38,000
== 17,100
01 AIXSHMEMNEX= 55,100 55,100 0
OFAHE =02 =14 55,100
= 38,000
=} 17,100
HAELHEAAE NS A XS (XH) 197,520 202,332 N4 812
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AERNCEBIES-E R SN OENETHB
SRR PN
SC I PEEIFE W (SHol: @)
AR .24 BB OEH) - NEAY - BAS 0 Ak o8 ﬁlf& HDS2
Jl 197,520
308 AXISHMSOIH 197,520 202,332 N4 ,812
Dl 197,520
01 HXHHNBIMNEXTS 197,520 202,332 N4 ,812
OFAE=EHAE XNEZA K& 197,520
Dl 197,520
HAE 29A¥3 29 17,000 15,000 2,000
Jl 17,000
308 XX SHHSOIA 17,000 15,000 2,000
Jl 17,000
01 AIXHMBAEXZ 17,000 15,000 2,000
O d34Hd 2HRRS 29 17,000
Jl 17,000
HAadE SFNs T2 )Y 286,000 314,286 N 28,286
= 200,000
& 86,000
307 212t0| & 286,000 314,286 N 28,286
= 200,000
& 86,000
11T A SEXAIE EX 286,000 314,286 N 28,286
OFAUE stHFNg Tz )H 286,000
= 200,000
& 86,000
22HAELBEAE JIISEL(XNI-HEAZ) 4,103,000 1,760,000 2,343,000
403 XX S M S K201 A 4,103,000 1,760,000 2,343,000
01 XHNMAHEBE = 4,103,000 1,760,000 2,343,000
O338AESEHANE JIsES 4,103,000
AostEd 29X 100,000 100,000 0
307 QI2t0| ™ 100,000 100,000 0
05 A2t E = 100,000 100,000 0
OXHesd 2GXNA 100,000
HAGXNSA HRMAH XS 185,280 181,560 3,720
307 212t0| & 79,200 79,200 0
03 AAHNNEESIHES 79,200 79,200 0
OFAEXNEXN M2MEH N (HH) 79,200
308 AXISHXMSO0IHA 106,080 102,360 3,720
01 HXHNBIMNEXTZ 106,080 102,360 3,720
OFAMAXNETA MRMEH X2 (XH) 106,080
22HAELBEAILE JISEL(XNE-HEAY) 784,000 716,000 68,000
401 Al HI L £ 0HHI 784,000 716,000 68,000
01 A& HI 784,000 716,000 68,000




NS L S IENCEEBIES EE
M HAEASLG
ool HAUAFSY (SHol: @)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
OS2 adsdANME JIsEZ 784,000
FAEHAZXA 322,500 327,500 A5,000
= 215,000
< 107,500
308 XXM SOIA 322,500 327,500 A5,000
= 215,000
< 107,500
01 AXHHILEES 322,500 327,500 A5,000
OFAad AZ XA 322,500
= 215,000
< 107,500
AW BOIIP ESUAMEY 10,000 10,000 0
307 21201 A 10,000 10,000 0
TEEP RS 10,000 10,000 0
OFAY EHWIF EsX3AAY 10,000
ostsd JIsEd 64,000 60,000 4,000
402 2I2H X201 M 64,000 60,000 4,000
03 212t &AL S HI 64,000 60,000 4,000
ORgistsd A8 Y2 64,000
HFAEUESHE 6,560,481 6,143,835 416,646
= 14,000
J| 4,739,560
=) 1,806,921
H2sdH SN (HE) 309, 104 301, 172 7,932
J| 154,552
=) 154,552
307 glz2tol & 309,104 301,172 7,932
J| 154,552
=) 154,552
10 ALSISXAIEEE 22X 309,104 301,172 7,932
OL2stdlH 2Z XN (DEEH) 154,552
J| 77,276
< 77,276
O42stdle XN (01sH) 154,552
J| 77,276
< 77,276
S25tHE DT 2Y 5,000 0 5,000
J| 5,000
308 XX EHSOIA 5,000 0 5,000
J| 5,000
01 HIXNHHNBNEES 5,000 0 5,000
OFAHLIHHEH W7 P2 5,000
J| 5,000

- 22 -




AERNCEBIES-E R SN HENERB
SRR PNl
o9 AUBSHE (cHel ® Q)
AR .24 B BAGEN) - NRANY - BES Ol &k o8 il HlnE2
H2HE 2SI XA () 77,276 75,293 1,983
| 77,276
308 XXX SO0 A 77,276 75,293 1,983
J| 77,276
01 AXSHBAELS 77,276 75,293 1,983
O& Ity 2 X&A 77,276
| 77,276
dus ANEEsIH 24 13,500 15,000 A 1,500
307 glz2+ol & 13,500 15,000 A 1,500
11T AISI S AAEE = 13,500 15,000 A 1,500
Odus NS ¢4 13,500
FAERSZZAE NFEAs 29 4,000 4,000 0
= 2,000
< 2,000
307 21201 A 4,000 4,000 0
= 2,000
< 2,000
11T MISAASEX 4,000 4,000 0
OFadRoiatdZAHY XNAE2As 2HX3 4,000
= 2,000
< 2,000
FdadRoisIZAH 2Y 18,000 18,000 0
= 12,000
< 6,000
308 XXl EHH SOl A 18,000 18,000 0
= 12,000
< 6,000
01 HXNHHNBHEELES 18,000 18,000 0
OFAERNSIZAE 2L 18,000
= 12,000
< 6,000
Hid dH 2GNA(2F) 212,700 148,712 63,988
| 106,350
< 106,350
307 glz2+ol & 212,700 148,712 63,988
| 106,350
< 106,350
10 ALSISXAIEEE2EH EX 171,900 111,580 60,320
O&dAddElH 29XE 171,900
J| 85,950
< 85,950
11T AL S XA E = 40,800 37,132 3,668
OFAHEH 2I9AIY 40,800
| 20,400
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AT I SN OHERE
SRR PN
Chel: EAEBsSHEE (&)
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
| == 20,400
HAE &EH 2SN (XEY) 1,022,130 874,301 147,829
J| 786,254
< 235,876
308 AHXIEHHSOIA 1,022,130 874,301 147,829
J| 786,254
< 235,876
01 HXNHHNBHNEELS 1,022,130 874,301 147,829
OFAEEH 2EXE 1,022,130
J| 786,254
< 235,876
HAHONNMY AE(HY) 407,760 402,960 4,800
J| 203,880
< 203,880
307 glz2tol & 407,760 402,960 4,800
J| 203,880
= 203,880
10 ALSISXAIEEE2EH EX 306,048 306, 360 A 312
O AUt =2 H 306,048
Jl| 153,024
< 153,024
11T ALS S RAEE = 101,712 96,600 5,112
O FAUotda IS ALY 101,712
J| 50,856
< 50,856
HAHONMY A (XH) 589,080 573,720 15,360
J| 589,080
308 XX EHHSOIA 589,080 573,720 15,360
J| 589,080
01 IXNHHBNEES 589,080 573,720 15,360
OAlZ BAEMA ASALY 589,080
J| 589,080
EAHAERHAY 561,298 532,298 29,000
307 21201 A 561,298 532,298 29,000
10 ALSISXAIEEE2GHEX 506,298 477,298 29,000
OFagadg=sldy 29 506,298
11T M XA EX 55,000 55,000 0
OFAEAENEAY 55,000
HAE 2o AEMEH 2 10,000 10,000 0
307 glz2+ol & 10,000 10,000 0
11T MISXASEX 10,000 10,000 0
O&FEAYE holddy 24 10,000
SHAZZNY2I XA (EEY) 103,600 99,500 4,100
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AERNCEBIES-E R SN HENERB
SRR PNl
Chel: EAEBsSHEE (=& J)
AR .24 B BAGEN) - NRANY - BES Ol &k o8 il HlnE2
Il 51,800
< 51,800
307 glz2tol & 103,600 99,500 4,100
| 51,800
< 51,800
10 M SXNANEHI2IHE=X 103,600 99,500 4,100
O s¢A Z20d 28X & 103,600
J| 51,800
< 51,800
SHANEZZ Y2 I XH (XH) 330,830 315,975 14,855
| 330,830
308 XtXIEHH SOl A 330,830 315,975 14,855
| 330,830
01 AXHHILEES 330,830 315,975 14,855
OANZ St T2 2 XA 330,830
| 330,830
Stw & HAid X2 (HE) 351,966 347,500 4,466
| 246,376
< 105,590
307 gl2tol & 351,966 347,500 4,466
J| 246,376
< 105,590
10 M3 SXNANEHI2IHES 220,040 208,500 11,540
OF st 5 F44 N3N 2Y 220,040
| 154,028
< 66,012
11T AISI S XA E X 131,926 139,000 AT,074
Ok st & #A4d XNEAMY 131,926
| 92,348
< 39,578
st % AW X (NK) 887,334 871,878 15,456
J| 887,334
308 XX EHHSOIA 887,334 871,878 15,456
| 887,334
01 HXNHHNBHELS 887,334 871,878 15,456
OAlZ & st #3448 X 887,334
| 887,334
178t ZSEADHAE 29 (HY) 67,706 66,040 1,666
| 67,706
307 glz2tol & 67,706 66,040 1,666
| 67,706
11 AISI S XA E = 67,706 66,040 1,666
ONM7&ZEANHEH 29 67,706
| 67,706
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SN -ZH-SA(BA) - HRAY - B il HlnE2

FLESENA A (XH) 52,960 54,600 A 1,640
| 52,960

308 XXX SO0 A 52,960 54,600 A 1,640
J| 52,960

01 AXSHBAELS 52,960 54,600 A 1,640
OANzZ 3LAES4ERXJ A 52,960
| 52,960

da4@ gus @3 1,392,337 1,378,886 13,451
| 1,071,030
< 321,307

308 XXM SO0l A 1,392,337 1,378,886 13,451
| 1,071,030
= 321,307

01 IXNHHBNEES 1,392,337 1,378,886 13,451
O&FaY &z g3X& 1,392,337
J| 1,071,030
< 321,307

nEg" AAgs NAAH(XE) 56,980 54,000 2,980
| 56,980

308 XtXIEHH SOl A 56,980 54,000 2,980
| 56,980

01 IXNHHEBAMNEES 56,980 54,000 2,980
Ogn=Eg A5 N3dH 56,980
| 56,980

BHY =55 MEAEA IXIAMSE(HE) 69,536 0 69,536
| 34,768
< 34,768

307 gl2tol & 69,536 0 69,536
J| 34,768
< 34,768

11 ALS S XALEE = 69,536 0 69,536
O 5= MESSE A BIXI AL 69,536
| 34,768
< 34,768

HU =55 MGAEA BHXIAIS (X&) 17,384 0 17,384
| 17,384

308 XXM S0l A 17,384 0 17,384
| 17,384

01 IXNHHBNEES 17,384 0 17,384
OQHY = dF&EA BIXIALS 17,384
J| 17,384

HE2IAIH (L Z ) 122,273 196,232 73,959

el 2l 35,894 109,853 AT3,959
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86,379

86,379

23,949
23,949

51,030

51,030

11,400
6,600

4,800

Off &t 24

35,894

35,894

35,894
35,894
35,854
23,460

2,945
1,310
2,346

480
1,560
3,753

40

86,379

86,379

23,949
23,949
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